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Tension en bleue relevé sur 'ampli
Conrad Johnson MV50

= \ / = \. / S
ﬂ 4007 435‘[ sao‘[ 155 Rser=1 I V3 e =
@ T s
o g
i 153 c3 b= s
e f -
~R27 b‘;sox ||' ) ANy 'z w I é
= < | I r— 4 D ¥
< 162K WIS us 20K =3 AN
| cs — 2 vV
e 11 - I;._
c7] | T"P S|, R0 Ris Rzs S &
10 F-:-u\l z T — _/' ."\» J\\'r"}\' Jﬁ\';ﬁ."r ! 4'\,.‘!6\_’,. ‘A"\‘f {\\(c ‘_]82’ ::B_.l 1
R2s | /71 S — 10K 10K 100K a3s
“'.'."""V \ — " 5751
I 1K SIS . A M
> 1.25(5751 VN
—. V5 \'-T:Rz' N R22 3 -8
= ,J' R30 of 'p\2L AR
s Tl < R24 48 How: Vs &
= =750 e . 24K -
SINE(D 0.8 1K) o A (,\1" i =
AC10 ~R31 R25 1Meg ___cs c4 é
<7120 1p |150n é
- — cs
N/ ll
i N
JFourrier 1000 V(Output) .measure RMS_VOUTPUT RMS(V(output)) from Om to Sm

Aran Smac dec 1024 1 1000000 .measure PP_VOUTPUT PP(V(Output)) from Om to Sm
.measure POWER_VOUTPUT AVG(V(output))*2 /8 from Om to Sm
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